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1. Industrial alcohol will be produced by…….

a) Zymomonas       b) yeasts    c) Clostridium   d) Aspergillus niger 

2. Secondary metabolites have …………….

a) No apparent function in the organism  b) unusual structures   c) both a and b d) none of all  

3. Enzymes are considered as ……………..metabolites 

a) Anabolic   b) primary     c) industrial   d) all of these    

4. Progesterone is transformed to 21-Hydroxy progesterone by ……………

a) Pencillium spp      b) Aspergillus niger     c) Rhizopus nigricans     d) Lactobacillus 

5. Androstenedione is transformed by Saccharomyces fragilis to……….

a) Epicortisol      b) Testosterone acetate       c) Cortexone    d) Triamcinolone 

6. Estradiol is oxidized by Actionomyces albus to ………

a) Prednisolone       b) Estrone      c) Cortisol     d) Epicortisol 

7. The combined pretreatment of raw material is performed by ………………

a) Alkaline    b) steam      c) acid       d) both b and c  

8. The suitable pH for bioethanol production is ………………..

a) 5      b) 12     c) 8    d) 7

9. The best incubation period for bioethanol production ……………..

a) 96 h.   b) 72 h.    c) 48h.   d) 24 h.

10. Substance S is transformed to cortisole by ………..

a) Absidia orchidis   b) Streptomyces fradiae   c) Ophiobolus herptrichus   d) Rhizopus nigericans 

11. The factors that may be limit use of single cell protein as protein source are……..

a) Unacceptable color      b) Disagreeable odour     c) High content of nucleic acid    d) all of these 

12. Basic principle in industrial microbiology is ……………
a) Suitable growth conditions  b) fermentation  c) strain improvement   d) all of these

13. All of the following criteria for the industrial strains are true except ………..

a) Safety     b) genetic manipulation     c) unculturable   d) Easy breakage 

14. The main factors that affect the final choice of raw materials ………

a) Cost  b) sterilization     c) impurities levels    d) all of these

15. The industrial products from anabolic reactions ………..

a) Enzymes      b) ethanol     c) vitamins    d) a and c 

16. The suitable temperature for the highest ethanol production is………………….

a) 25     b) 45    c) 30   d) 40  

17. The bioethanol is used in the production of ……………

a) Air fresheners       b) vinegar     c) cosmetics     d) a and c 

18. The bioethanol producing yeasts such as …………..

a) Cryptococcus     b) Absidia orchidis      c) Clavispora     d) a and c 

19. The industrial products from catabolic reactions ……………….

a) Vinegar     b) gibberellic acid     c) ethanol        d) a and c 

20. The disadvantages of high acid content in single cell protein …………..

a) gibberellic acid  b) lactic acid    c) acetic acid   d) orotic acid which causes hepatic necrosis 

21. The adrenal corticol steroids are used for relieving the symptoms of ……………….. 

a) Allergic      b) hepatic necrosis       c) dermatologic         d) a and c 

22. Progesterone is transformed by Tricothecium roseum to ………

a) 17α-hydroxyprog.       b) epicortisol    c) 11α, 17α-dihydroxy prog.  d) cortisone

23. The original strain for penicillin production is……………………… 

a) Pencillium chrysogenum   b) Pencillium notatum  c) Pencillium digitatum   d)  Penicillium roqueforti

24. The oxford unit of penicillin activity required to prevent growth of …………………over a 24 mm diameter zone

a) Staphylococcus aureues          b) Streptococcus pyogenes         c) Streptococcus pneumonia d) Staphylococcus saprophyticus
25. Penicillin structure containing on …………………….
a) Beta-lactam ring   b) thiazolidine ring   c) dihydroyhiazolidine ring   d) a and b  

26. Penicillin G is ………………………..
a) not acid stable   b) benzyl penicillin   c) acid stable   d) a and b 

27. Phenoxymethyl penicillin is ……………………….
a) Penicillin K      b)  Penicillin F     c) Penicillin V        d) Penicillin X  
28. Approximately 3330 international units of sodium penicillin G activity equal ……………..

a)  one milligram (mg)    b) two milligrams      c) three milligrams    d) none of them  

29. Degradation of penicillin with alcohol results in formation of……………………. 

a) ester    b)  amide   c) ether   d) a and b 

30. The main carbon source in composition of typical medium for penicillin production is…………… 

a) glucose     b) lactose      c) fructose     d) maltose 

31. To convert penicillin into anionic form ……………..is added to culture medium

a) potassium hydroxide      b) sulfuric acid    c) amyl acetate   d) a and b 

32. Streptomycin is produced by ……………….
a) Streptomyces griseus  b) Streptomyces venezuelae  c) Streptomyces scabies d) Streptomyces avermitilis
33. The main carbon source used in dextran production is ……………………….

a) glucose        b) lactose      c) sucrose        d) fructose 

34. In structure of Streptomycin, inositol and guanidine form………………… 

a) streptidine b) streptobiosamine c) streptose  d) N-methyl glucosamine  

35. To increase the production of Neomycin, some …………..are added to fermentation medium

a) metals b)   auxins  c) sugars  d) a and c 

36.  Streptomyces venezuelae produces……………………. 

a) Streptomycin  b) Tetracyclines  c) Chloramphenicol  d) a and b 

37. Chloramphenicol is active in treating…………………….
a) Scarlet fever          b) Rheumatic fever    c) Typhoid fever    d) none of them 

38. Cephalosporin structure containing on………………………..
a) Beta-lactam ring   b) thiazolidine ring   c) dihydroyhiazolidine ring   d) a and c  

39. Gramicidin containing tyrosine (Tyr) amino acid is called…………………….. 

a) Gramicidin A        b) Gramicidin B        c) Gramicidin C       d) Gramicidin D

40. Cobamide is produced by ……………………..

a) Streptomyces griseus  b) Streptomyces olivaceus  c) Streptomyces scabies d) Streptomyces avermitilis
41. Low molecular weight of dextran is obtained at temperature …………………
a) 30 °C    b) 20 °C      c) 4 °C       d) 25 °C
42. ………………..cannot be used as buffering agent in fumaric acid production 

a) Potassium carbonate b) Sodium carbonate   c) Calcium carbonate d) Magnesium carbonate

43. Corrin ring contains……………… element in Vitamin B12 structure 

a) cobalt    b) iron       c) copper       d) magnesium

44. In riboflavin production, the media is adjusted at temperature 26-28 °C for …………….
a) 2-3 days      b) 3-4 days       c) 4-5 days      d) 5-6 days 

45. Beta-carotene is converted into vitamin A in………………. 

a) animal body      b) fungus mycelium        c) fermentation medium      d) none of them

46. Amylase enzyme is produced by Aspergillus niger and…………..is used as carbon source 

a) lactose       b) sucrose       c) starch       d) molasses 

47. Bacterial proteases is produced by ………………………….
a) Bacillus subtilis  b) Bacillus thuringiensis  c) Bacillus megaterium  d) Bacillus licheniformis
48. …………………are used for recombinant therapeutic peptides and proteins 

a) Plasmids         b) Transformed bacteria       c) Restriction enzymes   d)  all of them
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1. b
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3. d

4. b
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